AR KRB E I S bR

WevaE: AR RS
B = RRIEHPE + RE + HE

1. SCI+ ET S5 CHIEERER

(D fRUEHE: 30 /80

(2) R

O%¥E 22 FH 9% 20 Jt;

Q@B 4 I0/ s

@5 H: 3 76/ Feth 51k EGH 3

@HAMKGZ: JWPHREH: 20 6/k: HFE: 50 o/ AN/ WIF) JCR 401X
SR 5 oo/ P/ IR mssluE: 20 J6/k .

(3) He.

B 224 FH 2 20 o0 (IR AEE ) FTEIFY (0.5 70/70). Hifizh (1
D IONE; Stk & N

2.CNKI S iEERE

(D fMRIEHE: 20 /80

(2) R

O%¥E 9% 10 Jt;

Q@EIWR: 2 J0/ s

@S5I H: 1 76/ b5 kBT,

(3) He: HIEEMHE 10 6 (AR ZRNEE). FTEIFR (0.5 J6/T0).
PR (1L o/T0D. PR,

3. UiBA

(1) i REHEIER R RZ 2 fr, HiEd 16 JUE S mITE 2% it
2 W IR A Ay, BESIET BN 2 .

(2) R K8 DR T 5T BN, B2 P B T T EA R
(A TERIZ FALED

(3) KEEZHE (20 R AL D IR — & S8 4.

b ﬁ@'#%
FHggy
A

A P



